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1. In the circuit diagram below, determine the value qf,Ithe current
supplied by the power supply. All formulas and calculations
must be shown. ‘-.,‘Q
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2. In the circuit diagram below, determine the value of ,the electromotive force.
All formulas and calculations must be shown.

R, =10Q

€ P T ey R.=15Q ( £nd

R; =20Q) R'k

R,=5Q0
1= 13.3A
= 2 + L4 t i1 €=
ﬂ"b" R, R, Fz Ry
|
z,b: 0.42




Ta R 1S A
7 VVV 7 V, =60V
Gov Sh /K,SZN’A\/ =90V
Et__+ R, R, Vi=30V
' ey \/3:%\/ L= 10 A
L =15A

A

3oV Ry ('I'r'
I‘I:RA

Without calculating, based only on your understanding of voltage and
current laws, find the values below. Explain your answers.
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4. One of the diagrams below is depicting the direction of conventional current flow
in a circuit, and one is depicting the direction of electron flow in a circuit. Which is
which? Place the terms: electron flow and conventional current in the

appropriate rectangles.
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5. You want to measure the potential difference across the terminals of lblow.
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a) What device will you use?
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b) On the diagram below, indicate how the device is connected, using the appropriate

symbol. o Q
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c) lIs this device connected in series or in parallel with,R Explain your answer.
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6. You want to measure fhie intensily of the currgnt flowing thrgugh resistgr R
in the circuit below. i )
T

a) What device will you use?y\
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b) On the diagram below, indicate how the device is connected, using the

appropriate symbol.
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c) Is this measuring device connected in series or in parallel with resistorsR
Explain your answer.
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